

BID BULLETIN 01

Date: 20 May 2022

Project Title: Supply and Delivery of Construction Supplies (GOODS-22-21)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
	or
	a. Registration Certificate (SEC, DTI or CDA)
	b. Mayor's/Business Permit
	c. Tax Clearance
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 906,264.75)
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 906,264.75 and the largest of which should be at least PhP 453,132.38.
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 3 months for supplies and 1 year for equipment)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 43,625,059.00)
	Or
	Committed Line of Credit (at least Php 362,505.90)
(2 nd Envelope) FINANCIA	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)
	•



Please take note:

In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against</u> <u>each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (**Data Sheets**), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of **ITB** Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration	PhilGEPS
	(Platinum)	
2.	Registration Certificate (SEC/DTI)	Registration Certificate
3.	Mayor's/Business Permit	Mayor's-Business Permit
4.	Tax Clearance	Tax Clearance
5.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
6.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	
7.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
8.	Bid Security	Bid Security
9.	Technical Specifications	Technical Specifications
10.	SCHEDULE of	Schedule of Requirements
	Requirements/Production and	
	delivery schedule	
11.	Manpower Requirements	Manpower Requirements
12.	After Sales service/parts	After Sales
13.	Omnibus Sworn Statement	Omnibus Sworn Statement
14.	Audited Financial Statements	Audited Financial Statements
15.	Net Financial Contracting Capacity	NFCC
16.	Committed Line of Credit	CLC
17.	Bid Form	Bid Form
18.	Price Schedule	Price Schedule

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.



- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph before the deadline.

III. Changes in the Bidding Documents

Original

Section I. Invitation to Bid	(Amendment)

5. A complete set of Bidding Documents may be acquired by interested Bidders on 03 May – 30 May 2022 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

5. A complete set of Bidding Documents may be acquired by interested Bidders on 03 May – 30 May 2022 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means:

The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details:

Account Name: Visayas State University Fund

164

Account Number: <u>3572-1000-13</u>

Then send the deposit slip to jessamine.ecleo@vsu.edu.ph

- 7. Bids must be duly received by the BAC Secretariat through (i) manual submission at the office address indicated below, (ii) online or electronic submission as indicated below, or (iii) both on or before 30 May 2022 until 8:30 AM. Late bids shall not be accepted.
- 7. Bids must be duly received by the BAC Secretariat through (i) manual submission at the office address indicated below, (ii) online or electronic submission as indicated below, or (iii) both on or before *01 June 2022 until 8:30 AM*. Late bids shall not be accepted.
- 10. Bid opening shall be on 30 May 2022; 9:00 AM at the PPO Conference Room, Lower Campus, VSU, Visca, Baybay City, Leyte and via Zoom. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. Bid opening shall be on *01 June 2022*; 9:00 AM at the PPO Conference Room, Lower Campus, VSU, Visca, Baybay City, Leyte and via Zoom. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.



Section I. Invitation to Bid	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use Light Blue envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Item No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	Carrying Channel, 12mm x 38mm x 5mm, 1.0mm(thickness), 5 Meters long	pcs	200	200.00	40,000.00
2	Double Furring, 19mm x 25mm x 5mm, 0.40mm (thickness) at least 5 meters long	pcs	800	150.00	120,000.00
3	Electrical (PVC) Clip, 1/2"	pcs	180	5.00	900.00
4	Electrical (PVC) Long Sweep Elbow, 1" x 90deg	pcs	5	120.00	600.00
	PVC Pipe Long Elbow, 1 1/4 (32 mm)Diameter Electrical				
5	Electrical Panel Board Single Phase, (Bolt on type)	sets	1	12,000.00	12,000.00
	Metal enclosed Single Phase Panel Board				
	Copper Busbar				
	Consist of the following with grounding terminal				
	1 pc-70AT 10Kaic 240 volts, Center Main, Breaker, (Molded Case)				
	2 pcs- 30 amp 2 poles, 240 Volts, Branch, (Molded Case)				
	4 pcs- 20 amp 2 poles, 240 volts, Bolt on type, Breaker , (Molded Case)				
6	Electrical Panel Board, Dead Front 3 Phase, (Bolt On)	set	1	50,000.00	50,000.00
	Metal enclosed Three Phase Panel Board				
	Copper Busbar				
	Consist of the following with grounding terminal				
	1 pc- 100AT 10 KAIC 3 poles 600 volts, Center Main Breaker, (Molded Case)				
	6 pcs- 70AT 10 KAIC 2 poles, 240 Volts, Branch, (Molded Case)				
7	Electrical Square Box (PVC), 4" x 4"	pcs	3	100.00	300.00
8	Electrical Switch, 3-way- delete gang-added, flush type	pcs	12	200.00	2,400.00



	Heavy duty				
	Good quality				
9	Electrical Switch, Single (Flush type)	set	25	130.00	3,250.00
10	Electrical Tape, Vinyl	rolls	12	70.00	840.00
	■Flame retardant and compatible with plastic cable and wire harness insulations				
	■Flexible PVC with aggressive rubber adhesive				
	■Primary electrical insulation for all wire and cable				
	splices rated up to 600 volts.				
	■ 19mm x 16m x 0.155mm				
	■Heavy Duty				
	■ASTM approved				
11	Electrical Wire, THHN / THWN, AWG 10 (5.5mm2), Stranded, 150 meters/box	box	3	8,000.00	24,000.00
	■ Building Wire				
	■Stranded with Nylon Insulation				
	■Gauge 10				
	⊚ UL listed				
12	Electrical Wire, THHN / THWN, AWG 12 (3.5mm2), Stranded, 150 meters/box	box	4	11,500.00	46,000.00
	■Building Wire				
	■Stranded with Nylon Insulation				
	■Gauge 12				
	©UL listed				
13	Electrical Wire, THHN / THWN, AWG 14 (2.0mm2), Stranded, 150 meters/box	boxes	4	3,600.00	14,400.00
	Building Wire (Green Color)				
	Stranded with Nylon Insulation				
	Gauge 14				
	UL listed				
14	Electrical Wire, THHN / THWN, AWG 4 (22mm2), Stranded, at least 150 meters per roll	roll	1	25,000.00	25,000.00
	Stranded Copper with Nylon Insulation				
	Gauge 4				
	UL listed				
15	Electrical Wire, THHN/THWN, AWG 6 (14 mm2), Stranded	meters	534	150.00	80,100.00
	Building Wire				
	Stranded with Nylon Insulation				
	Gauge 6				
	UL listed				
16	Electrical, (PVC) Clip, 3/4"	pcs	120	15.00	1,800.00
	High quality PVC				
17	Electrical, Duplex Convenience Outlet with Ground Prong (flush type)	pcs	120	160.00	19,200.00
18	Electrical, Junction Box, 4" x 4"	рс	30	35.00	1,050.00
	■Heat resistant				
	■Waterproof				
	■UL certified				
19	Electrical, Pipe, (PVC) Orange, 1"(32mm) x 3m Sched 40, Durable, Good Quality	length	10	75.00	750.00
20	Electrical, Pipe, (PVC) Orange, 3/4"(25mm) x 3m	length	72	150.00	10,800.00



	Sched 40, Durable, Good Quality				
21	Electrical, PVC Pipe (Orange), 1/2" x 10'	length	117	60.00	7,020.00
22	Electrical, 1 vo Fipe (Grange), 1/2 x 10	pcs	18	180.00	3,240.00
23		-	120	30.00	3,600.00
24	Electrical, Utility Box, 2" x 4", Orange, PVC	piece	40000	1.00	40,000.00
24	Fiber Cement (FiCem), Screw, #7(3.5mm) x 1"	pcs	40000	1.00	40,000.00
25	Fiber Reinforced Cement Board, 1/4" (thickness) x 4' x 8'	sheets	500	760.00	380,000.00
26	Mini claw hammer	рс	1	400.00	400.00
	handle: 12 cm				
	Head/claw: 8 oz				
	Material: Stainless head/claw, handle with rubber				
27	Mirror, 1/8, 120 cm dia. x 80cm. with J-clip	pcs	4	1,800.00	7,200.00
28	Nails, Common Wire, 1"	kl	55	80.00	4,400.00
	Smooth Shank				
29	Nails, Common Wire, 2-1/2"	kilos	204	75.00	15,300.00
30	Nails, Common Wire, 4"	kl	255	70.00	17,850.00
	Smooth Shank				•
31	Nails, for Fiber Cement Board, 1"	kl	50	150.00	7,500.00
	Heavy Duty, Good Quality			100100	1,000100
32	Paint, Flat wall Enamel, White	gallon	27	660.00	17,820.00
	Premium Quality Paint	ganon		000.00	11,020.00
33	Paint, Latex, Semi-Gloss, White	gallon	92	700.00	64,400.00
- 00	Premium Quality Paint	ganon	52	700.00	04,400.00
34	Paint, QDE, White	gallon	60	720.00	43,200.00
34		gallon	00	720.00	43,200.00
35	Premium Quality Paint	gallon	300	800.00	240,000.00
33	Paint, Roof, Baguio Green	gallon	300	800.00	240,000.00
36	Premium Quality Paint	gallon	400	800.00	320,000.00
30	Paint, Roof, White (laguna)	gallon	400	800.00	320,000.00
37	Premium Quality Paint	gallan	100	900.00	90,000.00
38	Paint, Roofshield, Casa Blue	gallon	360	+	190,800.00
30	Plywood, Marine, 1/4"(thickness) x 4' x 8'	piece	300	530.00	190,600.00
20	Standard, Good Quality	niono	EA	1 250 00	72 000 00
39	Plywood, Marine, 3/4"(thickness) x 4' x 8'	piece	54	1,350.00	72,900.00
40	Standard, Good Quality	ob o o to	4.40	FF0.00	77 000 00
40	Sheets (G.I.), Plain (0.4mm thickness)	sheets	140	550.00	77,000.00
41	Sheets, (G.I.) Corrugated, (0.5mm thickness) 12'	sheets	600	1,000.00	600,000.00
42	Skim Coat, 20kg/bag	bag	60	550.00	33,000.00
	Good water vapor permeability				
40	©Excellent bonding to concrete		0	000.00	0.400.00
43	Solderless connector for 50 mm² wire 2 bolts	pcs	3	800.00	2,400.00
44	Tile Adhesive Additive	gal	40	600.00	24,000.00
	Acrylic based polymer additive				
	Good quality		0000		10.000.00
45	W Clip for Double Furring, (0.40mm thickness)	pieces	2000	6.00	12,000.00
46	Good Lumber, 2" x 3" x 12'	pcs	14	600.00	8,400.00
47	LED Bulb, 9 watts	pcs	20	150.00	3,000.00
48	Nails, Common Wire, 1-1/2"	kls	5	75.00	375.00
49	Sheets, (G.I.) Corrugated, (0.5mm thickness) 10'	pcs	4	700.00	2,800.00
50	Cement Portland	bags	38	300.00	11,400.00
	Type 1P, Premium Quality				
	ASTM C150				
51	G.I Tie Wire #16, Good Quality	kgs	6	90.00	540.00
52	Nails, Common Wire, 2", Smooth Shank	kgs	5	75.00	375.00



53	Nails, Roofing (Umbrella), 2", Twist Shank	kgs	5	130.00	650.00
54	Paint Brush, 4"	pcs	4	70.00	280.00
55	Paint Brush, Roller with handle, 7", Durable & Good Quality	pcs	5	100.00	500.00
56	Paint Brush, Roller with tray, 1-1/4" x 4", Durable & Good Quality	pcs	5	100.00	500.00
57	Paint, Roof White, Premium Quality Paint	gallons	17	800.00	13,600.00
58	Sheets, (G.I.) Plain, Gauge 26 (0.551mm) x 8'	sheets	4	600.00	2,400.00
	■Standard, Good Quallity				
59	Steel Bar, Deformed (Corrugated), 10mm x 6m	length	8	300.00	2,400.00
	■0.616 kg/M PNS 230				
	■ASTM/Grade 33 Structural				
60	Steel Bar, Deformed (Corrugated), 12mm x 6m	length	8	420.00	3,360.00
	■ASTM/Grade 33 Structural				
61	LED T5 Tubelight	pcs	5	300.00	1,500.00
	■Rated Power:16 Watts				
	■Length: 1200mm				
62	Screw with Tox, 5mm	set	100	6.00	600.00
63	Bulb, LED, 15W	pcs	10	300.00	3,000.00
	■Wattage: 15 Watts				
	■Lumens: 1521				
	■Color Temp. : Daylight				
	■Beam Angle: 200 degrees				
	■Voltage: 170-240 V AC 50/60Hz				
	■Bulb Holder: E27				
	■Life Hours: 15,000 hrs.				
	■Material: PC cover & Aluminum PCB				
64	Cable Duct, Slotted PVC, 40mm x 40mm	length	20	600.00	12,000.00
	40mm x 40mm x 2 meters				
	Used for cable management such as mechanical wiring, DATA Wiring, and Especially Electrical Panel Wiring				
65	Cable Duct, Slotted PVC, 25x40mm	length	10	450.00	4,500.00
	25mm x 40mm x 2m (W x H x L)				•
	Cable management for mechanical wiring, DATA Wiring, and Especially Electrical Panel Wiring				
66	Cable Duct, Slotted PVC, 60mm x 60mm	length	10	750.00	7,500.00
	60mm x 60mm x 2 meters				
	Used for cable management such as mechanical wiring, DATA Wiring, and Especially Electrical Panel Wiring				
67	Foot Bolt 4"	pcs	8	600.00	4,800.00
	Deadlocking latch bolt	-			
	Simple installation and operation				
	Suitable for garage, barn doors, warehouse, or double doors				
	Additional security for wooden doors				
	Step on release lever to retract bolt				
	Color: Antique Brass or Gold				
	Extra security to resist forced entry from intruders				
68	LED Tube with housing (T8), 18 watts, 4ft (Daylight)	set	15	500.00	7,500.00



			ı		
69	Extension wire with 4 gang Universal Convenience Outlet, at least 10m long	pcs	10	500.00	5,000.00
	at least 10 amperes wire capacity				
70	Bulb, LED, 9W	pcs	18	150.00	2,700.00
71	Bulb, LED, 7W	pcs	10	120.00	1,200.00
72	LED Bulb, 5 watts	pcs	3	130.00	390.00
73	Grass Cutter Set	pcs	1	14,999.00	14,999.00
	Displacement 35.8cc Single Cylinder OHC Aircooled O.95KW/6500 RPM Recoil starterDiaphragm Carburetor0.63L tank0.1L oil tank GX35 Japan Quality Engine-delete FREE: Nylon Cutter and Metal Blade				
	Rebidding (from GOODS-22-17)				
7.4	,	1	0	4 000 00	0.700.00
74	100W, 24V Tungsten Halogen Lamp	set	2	1,890.00	3,780.00
	Wattage: 100W				
	Voltage: 24V				
	Base: G6.35				
	Average Lifetime: at least 300hrs				
	Durable and HeavyDuty				
75	Agricultural Diesel Engine, 22Hp	unit	1	71,000.00	71,000.00
	Product Description				
	Ignition Mode: Electric Ignition				
	Speed: High Speed				
	Cooling Cylinder: Water-Cooled				
	Intake Pressure Impulse: Naturally Aspirated				
	Piston Movement: Reciprocating				
	Fuel: Diesel				
	Number of Strokes: Four-Stroke				
	Cylinder Arrangement Form: Single Cylinder				
	Number of Cylinders: Single-Cylinder				
	Type: Electric Motor				
	Combustion Type: Direct Injection				
	Cylinder Bore: 115mm				
	Piston Stroke: 120mm				
	Rated Output: 16.17kw, 22/24HP				
	Rated Speed: 2200r/Min				
	Transport Package: Plywood Case				
	Specification: 858*450*699mm				
76	Cabinet handle, 3" (Plastic)	piece	20	50.00	1,000.00
70	Pull in Type, Good Quality	piece	20	50.00	1,000.00
77	Electrical Circuit/Safety Breaker, 30A, (Box type)	рс	2	530.00	1,060.00
	Heavy Duty and Good quality				
	Durable				
	220-240V				
78	Flood Control Sandbag	piece	800	180.00	144,000.00
	Flood Control Sandbags, 6 mils (Thick and flood resistant plastic)				
79	Foldable Folding Awning Retractable Awning/Manual Exterior Sun Shade Deck Window Cover	piece	1	9,000.00	9,000.00
	Dimension: 5x2meters				
	Color: Black				
	Item Depth: 120 in				
	•	•		L.	



	Assembly Required: Yes			1	
	Shape: Rectangle				
	Number of Pieces: 4				
	Fixings Supplied: Yes				
	Roof Material: Polyester				
	Style: Traditional				
	Frame Material: Aluminum				
	Features: Retractable, UV Resistant, Weather				
	Resistant				
	Type: Awning				
80	Folding umbrella	pcs	3	500.00	1,500.00
- 00	To be used during survey;	pcs		300.00	1,300.00
81	Forage Chopper	unit	1	282,000.00	282,000.00
01	TECHNICAL SPECIFICATION	unit		282,000.00	202,000.00
	Productivity: 2000 to 8000 kg/hr				
	Number of Blades: 4				
	Cut Sizes: 55mm and 13mm				
	Required Power: 22hp (Note: Specification of the Engine)				
	Version: Base for the Diesel Engine				
	Cut size change by lever - The only one in the				
	market that changes the cut size with the machine				
	running. Easy and quick handling				
	Efficient transmission system by gearbox or PTO.				
	High resistance of rotor and blades that made of special hardened steel.				
	Uniform cut size for better quality of fodder for the animal				
	High output with low power consumption				
	Simple operation and maintenance				
	Outstanding performance				
	Longer durability				
	Better fodder quality with lower loss				
82	Good Lumber, 2" x 6" x 12'	pcs	2	1,220.00	2,440.00
83	Lens LED Reflector for 20-100W LED Light	set	2	1,500.00	3,000.00
	44mm Optical Glass Lens				
	50mm Reflector Collimator Cup				
	Fixed				
	Durable				
84	Pipe, (G.I.), 1"Ø x 20'	length	17	1,400.00	23,800.00
	Schedule 40, Good Quality				
85	Pipe, (G.I.), 1/2"Ø x 20'	length	10	680.00	6,800.00
	Schedule 40, Good quality;				
86	Pipe, (G.I.), 1-1/2"Ø x 20'	рс	10	2,000.00	20,000.00
	Schedule 40Good quality				
87	Pipe, (G.I.), 3"Ø x 20'	length	30	4,500.00	135,000.00
	Schedule 40Wall Thickness: 5.49mm				•
88	Round file, 3/16" x 7-7/8" for Chainsaw	pcs	10	255.00	2,550.00
89	Sheets, (G.I.) Corrugated, Gauge 24 (0.51mm) x 8'	sheet	60	600.00	36,000.00
	Standard width, Good Quality				
	Single Swing Door, Analok frame with bronze		_	46	
90	glass, Standard Size with installation	set	1	12,000.00	12,000.00



91	Exhaust Fan, 405mm diameter, 220V	unit	1	2,500.00	2,500.00
	Durable, heavy duty, good quality				
92	Tiles, Granite 60cm X 60cm	рс	25	240.00	6,000.00
	Beige, Premium grade				
93	LED T5 Tubelight, 16W, length: 1200mm	рс	12	300.00	3,600.00
94	Electrical, PVC Pipe, orange, 3/4"	рс	30	160.00	4,800.00
95	Paint, Latex, Chocolate Brown, Premium Quality	gal	1	900.00	900.00
96	Paint, Latex, Semi Gloss, White, Premium Quality	gal	12	720.00	8,640.00
				TOTAL:	3,625,059.00

DILBERTO O. FERRAREN

BAC Chairman